
  حليت الواجب الاول بالبلاك بورد وأخذت 4من4 يعني اعتمدو الحل
 

 c > 1السؤال 
 

  c > 2السؤال 
 

 a > 3السؤال 
 

 a> 4السؤال 
 

بإذن الله 4من 4الدرجة   
 . ، بالتوفيق انجميزي كتابة الثاني نقمت لكم حل الواجب

 

 

 

1. What is the correct order of the parts of a letter 
 

(A) The heading, the greeting, the body of the letter, the closing, the  
signature 

(B) The heading, the closing, the signature, the greeting, the body of 
the letter 

(C) The greeting, the body of the letter, the heading, the closing, the 
signature 

You need to work harder you will get fired 
 

 
 

 

2. Which of the following is a run-on 
(A). My friend and his sister work a lot, so they don’t go out very 

often. 
(B) My friend and his sister work a lot they don’t go out very often. 

(C) My friend and his sister work a lot. They don’t go out very often. 
(D) My friend and his sister work a lot, they don’t go out very often. 

 
 
 



3. Which of the following is a comma splice  
(A) You need to work harder, you will get fired. 

(B) You need to work harder, or you will get fired. 
(C) You need to work harder. You will get fired. 
(D) You need to work harder you will get fired. 

 

 

 

 

 

 اللغة الانجليزية كتابة الواجب الثالث لـ

 

 

What type is the sentence in each of the 

following? 

 ما نوع الجملة في كل مما يأتي؟

 

I finish my 1. "I will go to bed as soon as 

homework" is 

a complex sentence 

 

2. "I will finish my homework, but I will not go to 

bed after that" is 

a compound sentence 

 

3. "I will finish my homework and go to bed" is 

a simple sentence 

 

Which is the best way to rewrite the following 

nce?sente 

They don’t buy junk food because they like 



healthy food 

 

They like healthy food, so they don’t buy junk 

food 
 

 

 

 

 

 

 
 


